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short answer. add more arguments. a 20 marks answer hould have 
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add references/examples against each of these arguments,
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attempt both causes and solutions in approximately equal length,

22
Highlight



22
Highlight

22
Highlight

22
Highlight

22
Highlight



22
Highlight

22
Highlight

22
Highlight

22
Highlight

22
Highlight



short answer. add more arguments. a 20 marks answer hould have 
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add more arguments. this was the main gist of the answer.
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short introduction.
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short answer. add more arguments. a 20 marks answer hould have 1
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